
Engines & Engine Parts: Water Pump - CF Moto 500cc, CF500 - 20A7010 - PBC1422F1
 

Water Pump - CF Moto 500cc, CF500 - 20A7010 - PBC1422F1

  

Rating: Not Rated Yet 
Price 

$244.99

  

                       1 / 2

https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_1.jpg
https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_2.jpg
https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_3.jpg
https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_4.jpg
https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_5.jpg
https://powersporta.com/images/stories/virtuemart/product/Water_Pump_-_CF_Moto_500cc_CF500_6.jpg


Engines & Engine Parts: Water Pump - CF Moto 500cc, CF500 - 20A7010 - PBC1422F1
 

Ask a question about this product 

Description 

 This genuine CF Moto Water Pump is typically found in the Water Pump Assy section of several part manuals. Commonly used for but not
limited to 4-stroked water cooled CF188 / 196S / 500cc, 600cc, and 625cc engines. It is most popularly known for its use in CF Moto 500cc
CF500 UTV (Rancher) / CF500 ATV / CF500 AllRoad 500 / CF500 Atlas /CF500 CF188 / CF500 CF188-A / CF500 CF188-B / CF500 CForce
X5 / CF500 XL ONE / CF500-2 CForce X5 / CF500-2A CForce X5 / CF500-3 UForce U500 U5 / CF500-5 Rancher / CF500-5A / CF500-5B
X500 / CF500-A CForce X5 / CF500-D CForce 500 / CF600 196S-B(X6) / CF600 196S-C / CF600-5 Rancher 600 UForce U6 / CF600-3 ZForce
Z6 SSV / CF600-6 ZForce Z6-EX SSV / CF625-2 / CF625-2A / CF625-3 ZForce Z6 SSV Side-by-Side / CF625-6 ZForce Z6-EX SSV / CF625-B
X600 / CF625-C 196S-B(X6) / CF625-C Terralander 625 X6 / CF625L / CF625L Long EFI / CF625S Short EFI / Terracross 625 4X4 / X6 EFI /
Z6 EFi / Terralander 500 CForce 500 / Rancher 500 UForce 500 / Terralander 625 CForce 600 / CF500-2A Long / CF500-A Short / X5 Basic &
Classic, ATV Sweden CForce X7, GOES 520 /520 MAX / 625UTS / G520 Quad / G525 / G525 MAX / G625i / G625i MAX / G625i UTX,
Hammerhead Titan 500 UTV (Off-Road), Journeyman Gladiator RX510 / Gladiator UTV 530 / Gladiator UTV630 EFI / Gladiator X5 / X5 EFI /
Gladiator X6 / X6 EFI / Gladiator Z6, Powermax Chase 500, Quadzilla Terrain 500, Chironex Komodo 500 / Spartan 500 / Spartan 600 EFI,
Diamo Adventure 500 ATV, Explorer Atlas 500 / Atlas 500 2x4 COMPACT / Atlas 500 4X4 XL /Atlas 500 4x4 EDITION / Everest 500 4X4 XL /
Grison 625 4X4 Deluxe / Grumbler 500, WT Motors Ricambi Alaska WT500 / Ram WT500, XY Powersports, Yamaha, and Viarelli 550 UTV, as
well as many other brands of ATVs, UTVs (side-by-side), dirt bikes, scooters, go karts (buggies), and engines with alternative profile names. 

  Includes Part Numbers: 

1P52MI-011018, 0020-011018-0030 Bolt M6X70
152MI-013010, 0010-013010-0030 Bolt M6X50
152MI-060012, 0010-060012-0030 Bolt M6X30
152MI-021019, 0010-021019-0030 Bolt M6X12
152MI-060009, 0010-060009 Washer 6
CF188-081100, 0180-081002-0080 Cover, Water Pump
CF188-081001, 0180-081001 Impeller
CF188-081006, 0180-081006 Gasket
152MI-081000, 0010-081000 Water Seal
CF188-081004, 0180-081004-0050 Water Pump Shaft
CF188-081002, 0180-081100 Housing, Water Pump
172MM-080005, 0110-080005 Oil Seal 10X20X5
GB/T276/6000, 30400-01000 Bearing 6000
GB/T894.1/10, 30801-01005 Retainer 10

Manufacturer Part Numbers:

 CF Moto Part Numbers: 0180-081000, CF188-081000 “WATER PUMP”
 GOES Part Number: 0180-081000 “WATER PUMP”
 Chironex Part Number: CF188-081000 “WATER PUMP”
 Diamo Part Number: 08-038-470A “WATER PUMP”
 Hammerhead Part Number: CF188-081000 “WATER PUMP”
 Explorer Part Number: CF188-081000 “WATER PUMP”
 Powermax Part Number: CF188-081000 “WATER PUMP”
 Quadzilla Part Number: 0180-081000 “WATER PUMP SUB ASSEMBLY”
 ATV Sweden Part Number: CF500M-16-A “WATER PUMP”
 WT Motors Part Number: QN50011280 “WATER PUMP”
 Journeyman Part Number: 0180-081000 “WATER PUMP”

 

Powered by TCPDF (www.tcpdf.org)

                       2 / 2

https://powersporta.com/index.php?option=com_virtuemart&view=productdetails&task=askquestion&virtuemart_product_id=9249&virtuemart_category_id=200&tmpl=component
http://www.tcpdf.org

